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Web Appendix A: Question wordings for items [item names in brackets]
Portrait Values Questionnaire

The item wordings are reported in the appendix of the paper of Beierlein et al. in this volume.

Postmaterialism – Source: World Values Survey (WVS) 2006
“There is a lot of talk these days about what the aims of this country should be for the next ten years. Here is a list of the goals which different people would give top priority. (1) If you had to choose, which of these things would you say is most important? (2) And which would be the next most important?”
[Itemset 1] “A = A high level of economic growth; B = Making sure this country has strong defense forces; C = Seeing that people have more say about how things are done at their jobs and in their communities; D = Trying to make our cities and countryside more beautiful.”

[Itemset 2] “A = Maintaining order in the nation; B = Giving people more say in important government decisions; C = Fighting rising prices; D = Protecting freedom of speech.”

[Itemset 3] “A = A stable economy; B = Progress toward a less impersonal and more humane society; C = Progress toward a society in which ideas count more than money; D = The fight against crime.”

Self-Expression Values
[post-traditional morality] – Source: World Values Survey 2006 
“Please tell me for each of the following whether you think it can always be justified, never be justified, or something in between.” (1: Never justifiable; 10: always justifiable): (1) Homosexuality; (2) Abortion; (3) Divorce.
[autonomy as educational goal] – Source: World Values Survey 2006 
“Here is a list of qualities which children can be encouraged to learn at home. Which, if any, do you consider to be especially important? Please choose up to five!” Independence (+1); Hard work; Feeling of responsibility; Imagination (+1); Tolerance and respect for other people; Thrift, saving money and things; Determination, perserverance; Religious faith (-1); Unselfishness; Obedience (-1). [Numbers in brackets indicate computations with relevant variables.]

[equality in gender roles] – Source: European Values Study (EVS) 2008 
“People talk about the changing roles of men and women today. For each of the following statements could you indicate how much do you agree with.” (1 = agree strongly; 6 = disagree strongly): (1) Both the husband and wife should contribute to household income; (2) Having a job is the best way for a woman to be an independent person; [scale inversed for CFA models]; (3) Being a housewife is just as fulfilling as working for pay.
Xenophobia – Source: Gruppenbezogene Menschenfeindlichkeit; group focused enmity 2002
“Do you agree or disagree with the following statements?”
[social sec] „The foreigners living in Germany are a burden for the social security system”

[too many] „There are too many foreigners in Germany”

[German culture] „Foreigners enrich the German culture“

[jobs scarce] „When jobs are scarce, foreigners living in Germany should be sent home“

All: 1 = strongly agree, 6 = strongly disagree; inversed for CFA models.
End-of-life (euthanasia) – Source: British Social Attitudes Survey 2005 (NatCen 2007)
[euthanasia] “Please think about a person with an incurable and painful illness, from which they will die - for example someone dying of cancer. Do you think that, if they ask for it, a doctor should ever be allowed by law to end their life, or not?” (1 = Definitely should be allowed, 4 = Definitely should not be allowed; 5 = Don’t know); inversed for CFA models.
[family assisted suicide] “And if they ask a close relative to end their life, should the law ever allow the close relative to do so, or not?”(1 = Definitely should be allowed, 4 = Definitely should not be allowed; 5 = Don’t know); inversed for CFA models.
[physician assisted suicide] “And do you think that, if this person asks for it, a doctor should ever be allowed by law to give them lethal medication that will allow the person to take their own life?” (1 = Definitely should be allowed, 4 = Definitely should not be allowed; 5 = Don’t know); inversed for CFA models.
[living will] “If a person has an illness that will make it impossible for them to live as they want, do you think they should be able to write a living will that asks for medical help to die at a time of their choosing.” (1 = Definitely should be allowed, 4 = Definitely should not be allowed; 5 = Don’t know); inversed for CFA models.
Sexual permissiveness
“Now we would like to ask you a few questions about your opinion on sexual relationships.” 
[one-night stands ] “And what is your opinion about a person having one night stands?”

(1 = Always wrong, 5 = Not wrong at all) – Source: British National Survey on Sexual Attitudes and Lifestyles (NATSAL) 2000
[casualsex and prostitution] “Please tell me for each of the following statements whether you think it can always be justified, never be justified, or something in between, using this card.” (1: Never justifiable; 10: always justifiable): (1) having casual sex; (2) prostitution – Source: European Values Study (EVS) 2008
Unfaithfulness (cheating) – Source: Scottish Social Attitudes Survey (SSA) 2002
[cheating married] “What about a married person having sexual relations with someone other than his or her partner?” (1 = Always wrong, 5 = Not wrong at all)
[cheating cohabitation] “What about a person who is living with a partner, not married, having sexual relations with someone other than his or her partner?” (1=Always wrong, 5=Not wrong at all)
[cheating partner ] “And what about a person who is not living with a partner and who is not married, having sexual relations with someone other than his or her partner?” (1 = Always wrong, 5 = Not wrong at all)
Non-traditional sexuality – Source: Scottish Social Attitudes Survey (SSA) 2002
[premarital sex:] “If a man and a woman have sexual relations before marriage, what would your general opinion be?”(1 = Always wrong, 5 = Not wrong at all)
[men having sex with men:] “What is your general opinion about ... sexual relations between two adult men?” (1 = Always wrong, 5 = Not wrong at all)

[homosexuality:] “Please tell me for each of the following statements whether you think it can always be justified, never be justified, or something in between, using this card.” (1: Never justifiable; 10: always justifiable): homosexuality

Deprivation
[subjective stratum] “Today we talk a lot about social classes. To which social class would you assign yourself?” (1 = lower class, 2 = working class, 3 = middle class, 4 = upper middle class, 5 = upper class).
[economic situation] “How would you evaluate you own financial and economic situation?”
(1 = very good, 2 = rather good, 3 = poor, 4 = bad) (inversed for CFA models).

[just part] “Compared to how other people live in Germany: How much do you think you personally receive?” (1 = less than my just part, 5 = more than my just part).
Religiosity
[church attendance] “Apart from weddings, funerals and christenings, about how often do you attend religious services these days?” (1 = more than once a week, 7 = never) (inversed for CFA models).

[subjective religiosity] “Independently of whether you go to church or not, would you say you are a religious person? (1=not at all religious, 7=very religious).

Left-Right self-placement
[left-right] “In political matters, people talk of ‘the left’ and the ‘the right’. How would you place your views on this scale, generally speaking?” (1 = left, 11 = right).
Contact with foreigners

[contact] “Do you personally have contact with foreigners living Germany…” (1)“…in your family or close relatives?”, (2) “…at your workplace?”, (3)“…among your friends?”, (4)“…in your neighborhood?” (0 = no, 1 = yes) (count variable in SEM models)

Computation of the Postmaterialism-Index:
The Postmaterialism-Index is computed by summing the scores of choosing a postmaterialist goal in each itemset. In every itemset, there are two postmaterialist goals. The item “Trying to make our cities and countryside more beautiful” is excluded from the score because of not being unambiguously considered a postmaterialist goal. Thus, itemset 1 only contains one postmaterialist goal. In total, there are five postmaterialist goals.
Choosing a postmaterialist goal as being most important means adding 2 to the score. Choosing a postmaterialist as being the second important goal means adding 1 to the score. The score ranges between 0 and 8 (Inglehart and Abramson 1995: 24).
Example: Respondent A chooses item A as most important and Item C as second important goal in itemset 1, item B and item D in itemset 2, and item D and item B in itemset 3. The postmaterialism score in this case is 5.
[Itemset 1] “A = A high level of economic growth; B = Making sure this country has strong defense forces; C = Seeing that people have more say about how things are done at their jobs and in their communities; D = Trying to make our cities and countryside more beautiful.”
[Itemset 2] “A = Maintaining order in the nation; B = Giving people more say in important government decisions; C = Fighting rising prices; D = Protecting freedom of speech.”
[Itemset 3] “A = A stable economy; B = Progress toward a less impersonal and more humane society; C = Progress toward a society in which Ideas count more than money; D = The fight against crime.”
_________________________

The full questionnaire (in German) and the dataset may be obtained from the authors upon request by sending an e-mail to the first author (tilo.beckers@uni-duesseldorf.de).
Web Appendix B: Measurement Model
Table 1: Model modification for the measurement model of basic human values (PVQ)

	Model
	Modification
	Chi-Square
	df
	RMSEA
	SRMR
	CFI
	TLI

	M0
	No modifications
	3037.240
	694
	0.067
	0.067
	0.802
	0.777

	M1
	Values tradition and conformity collapsed
	3081.710
	703
	0.067
	0.069
	0.799
	0.777

	M2
	Items tradition1 and tradition2 removed from the model
	2809.611
	628
	0.068
	0.069
	0.810
	0.787

	M3
	Residual correlation between items universalism3 and universalism6 freed
	2583.347
	627
	0.064
	0.068
	0.830
	0.809

	M4
	Cross-loading from universalism to conformity4
	2484.685
	626
	0.062
	0.066
	0.838
	0.818

	M4
	Cross-loading from achievement to power1a
	2358.249
	626
	0.060
	0.061
	0.849
	0.830

	M5
	Cross-loading from universalism to security5
	2266.181
	625
	0.059
	0.057
	0.857
	0.839

	M6
	Cross-loading from self-direction to security4
	2181.371
	624
	0.057
	0.057
	0.864
	0.847

	M7
	Residual correlation between items security5 and security2 freed
	2117.446
	623
	0.056
	0.055
	0.870
	0.853

	M8
	Residual correlation between items achievement1 and achievement2 freed
	2056.922
	622
	0.055
	0.055
	0.875
	0.859

	M9
	Cross-loading from self-direction to stimulation1
	1997.566
	621
	0.054
	0.055
	0.880
	0.864

	M10
	Cross-loading from hedonism to stimulation3
	1952.910
	620
	0.053
	0.054
	0.884
	0.868

	M11
	Residual correlation between items achievement3 and power1 freed
	1913.273
	619
	0.052
	0.054
	0.887
	0.872


Notes: RMSEA= Root Mean Square Error Of Approximation, SRMR= Standardized Root Mean Square Residual, CFI=Comparative Fit Index, TLI=Tucker-Lewis Index. a When the cross-loading of item power1 on the value achievement is modelled the loading of power1 on the value power decreases close to zero. This loading is therefore removed from the model. Power1 exclusively measures the value achievement.

Table 2: Standardized parameter estimates of the model for PVQ 38 (Model 11 from Table 1)

	
	Indicator
	Loading
	s.e.
	Loading/s.e.
	R-Square

	Factor loadings and r-square
	
	

	Tradition/Conformity by
	TRA3
	0.550
	0.031
	17.529
	0.302

	
	TRA4
	0.537
	0.032
	16.971
	0.288

	
	CON1
	0.589
	0.029
	20.093
	0.347

	
	CON2
	0.632
	0.028
	22.499
	0.399

	
	CON3
	0.620
	0.029
	21.639
	0.385

	
	CON4
	0.478
	0.031
	15.341
	0.425

	Security by
	SEC1
	0.658
	0.029
	22.966
	0.433

	
	SEC2
	0.553
	0.032
	17.570
	0.306

	
	SEC3
	0.549
	0.032
	17.398
	0.301

	
	SEC4
	0.366
	0.036
	10.179
	0.315

	
	SEC5
	0.333
	0.036
	9.303
	0.278

	Hedonism by
	HED1
	0.727
	0.021
	35.232
	0.528

	
	HED2
	0.723
	0.021
	35.093
	0.523

	
	HED3
	0.909
	0.015
	61.600
	0.826

	
	(STI3)
	0.288
	0.038
	7.577
	-

	Stimulation by
	STI1
	0.401
	0.038
	10.417
	0.463

	
	STI2
	0.877
	0.024
	35.814
	0.770

	
	STI3
	0.574
	0.036
	15.791
	0.576

	Achievement by
	ACH1
	0.601
	0.026
	22.906
	0.361

	
	ACH2
	0.792
	0.017
	47.121
	0.627

	
	ACH3
	0.779
	0.018
	42.946
	0.607

	
	ACH4
	0.832
	0.015
	55.517
	0.692

	
	(POW1)
	0.578
	0.028
	20.632
	0.334

	Power by
	POW2
	0.820
	0.020
	40.571
	0.673

	
	POW3
	0.907
	0.019
	47.234
	0.823


Table 2: continued

	
	Indicator
	Loading
	s.e.
	Loading/s.e.
	R-Square

	Self-direction by
	SDR1
	0.578
	0.030
	19.291
	0.334

	
	SDR2
	0.527
	0.032
	16.347
	0.278

	
	SDR3
	0.641
	0.028
	22.545
	0.411

	
	SDR4
	0.448
	0.034
	13.030
	0.201

	
	(SEC4)
	0.411
	0.034
	11.949
	-

	
	(STI1)
	0.388
	0.039
	9.838
	-

	Universalism by
	UNI1
	0.625
	0.025
	24.787
	0.391

	
	UNI2
	0.520
	0.030
	17.536
	0.270

	
	UNI3
	0.582
	0.027
	21.531
	0.339

	
	UNI4
	0.782
	0.018
	42.980
	0.612

	
	UNI5
	0.804
	0.017
	47.130
	0.646

	
	UNI6
	0.500
	0.030
	16.510
	0.250

	
	(CON4)
	0.387
	0.031
	12.455
	-

	
	(SEC5)
	0.367
	0.030
	12.068
	-

	Benevolence by
	BEN1
	0.740
	0.022
	34.013
	0.547

	
	BEN2
	0.631
	0.026
	23.960
	0.398

	
	BEN3
	0.807
	0.020
	41.335
	0.652

	
	BEN4
	0.462
	0.033
	14.154
	0.213

	Correlations of indicator residuals
	
	

	
	UNI3 with UNI6
	0.539
	0.027
	19.916
	

	
	SEC2 with SEC5
	0.371
	0.034
	10.785
	

	
	SDR2 with SDR4
	0.297
	0.036
	8.278
	

	
	ACH1 with ACH2
	0.342
	0.037
	9.214
	

	
	POW1 with ACH3
	-0.282
	0.044
	-6.375
	


Note: UNI = Universalism, BEN = Benevolence, TRA/CON = Tradition/Conformity, 
SEC = Security, POW = Power, ACH = Achievement, HED = Hedonism, 
STI = Stimulation, SDR = Self-Direction. Cross-loadings in parentheses
Table 3: Correlations of Schwartz values (M11 from Table 1)

	
	Tra/Con
	Sec
	Hed
	Sti
	Sdr
	Ach
	Pow
	Uni
	Ben

	Tra/Con
	 1
	
	
	
	
	
	
	
	

	Sec
	 0.808
	 1
	
	
	
	
	
	
	

	Hed
	-0.044
	 0.023
	1
	
	
	
	
	
	

	Sti
	-0.224
	-0.332
	0.493
	1
	
	
	
	
	

	Sdr
	-0.101
	 0.040
	0.421
	0.487
	1
	
	
	
	

	Ach
	 0.228
	 0.374
	0.339
	0.387
	0.360
	 1
	
	
	

	Pow
	-0.028
	 0.131
	0.236
	0.378
	0.362
	 0.642
	1
	
	

	Uni
	 0.127
	 0.135
	0.149
	0.113
	0.647
	-0.046
	0.002
	1
	

	Ben
	 0.261
	 0.249
	0.321
	0.098
	0.469
	 0.115
	0.028
	0.664
	1


Note: UNI = Universalism, BEN = Benevolence, TRA/CON = Tradition/Conformity, SEC = Security, 
POW = Power, ACH = Achievement, HED = Hedonism, STI = Stimulation, SDR = Self-Direction.
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